mlutes

[ |
2 422
87
— 7~
10 7z
PROJECT
LOCATION,
4
d 14 .
NEWBURG
[GHTS
Q¢ o
14D
176J
176 ~ Eurandga
94 > HEIGP"I
cand
(DY 21 GARFIELD HEIGHT
ﬁ/( %0
/

43

LATITUDE: 41°28°27"

LOCATION MAP

LONGITUDE: 81°39°35"

SCALE IN MILES

2 3

P:\82388_CCG6B\Design\Utilities\Sheets\82388_GT8001.dgn Sheet 10/18/2017 2:00:48 PM

DESIGN DESIGNATION

CURRENT ADT (2017)______________
DESIGN YEAR ADT (2037)_______
DESIGN HOURLY VOLUME AM/PM (2037) . _______________
DIRECTIONAL DISTRIBUTION AM/PM ___________________
TRUCKS (24 HOUR B&C)______________
DESIGN SPEED
LEGAL SPEED._______
DESIGN FUNCTIONAL CLASSIFICATION:

NHS PROJECT _____________

DESIGN EXCEPTIONS
NONE

UNDERGROUND UTILITIES

CONTACT BOTH SERVICES TWO WORKING DAYS
BEFORE YOU DIG.

Call Before You Dig
1-800-362-2764

OHIO 4
Utilities Protection
SERVICE
(Non-members must be called directly)

STATE OF OHIO

DEPARTMENT OF TRANSPORTATION

CUY-77-13.80
BUILDABLE UNIT 8

CITY OF CLEVELAND
CUYAHOGA COUNTY

(CCG6B)

PROJECT DESCRIPTION

RELOCATION OF EXISTING CPP OVERHEAD POWER LINES.

PROJECT EARTH DISTURBED AREA: N/A ACRES
ESTIMATED CONTRACTOR EARTH DISTURBED AREA: N/A ACRES
NOTICE OF INTENT EARTH DISTURBED AREA:  N/A ACRES
(SEE BU-6 FOR PROJECT EARTH DISTURBED AREA)

LIMITED ACCESS

THIS IMPROVEMENT [S ESPECIALLY DESIGNED FOR
THROUGH TRAFFIC AND HAS BEEN DECLARED A LIMITED
ACCESS HIGHWAY OR FREEWAY BY ACTION OF THE
DIRECTOR IN ACCORDANCE WITH THE PROVISIONS OF
SECTION 5511.02 OF THE OHIO REVISED CODE.

2016 SPECIFICATIONS

THE STANDARD SPECIFICATIONS OF THE STATE OF
OHIO, DEPARTMENT OF TRANSPORTATION, INCLUDING
CHANGES LISTED IN THE PROPOSAL SHALL GOVERN
THIS IMPROVEMENT .

FEDERAL PROJECT NO
E131(492)

PID NO.

82388

173001

CONSTRUCTION PROJECT NO.

RELEASED FOR CONSTRUCTION

BUOS_2017.10.18_BUS_82388_CCG6B.pdf

10/18/2017 Brian.Link

RAILROAD INVOLVEMENT
NONE

PORTION TO BE IMPROVED __ wemm— INDEX OF SHEETS:
e pomar ,
e poutes CPP RELOCATION PLANS 2-9

STATE ROUTES .- CPP STANDARD DRAWINGS 10-22
COUNTY & TOWNSHIP ROADS. - STRINGING. SUMMARY 23
OTHER ROADS

1.R. 77 LR, 77 RAMP J5

NORTH OF SOUTH OF Ramt FRONTAGE ROAD BROADWAY AVENUE

BROADWAY BROADWAY

32,770 54,050 21,280 2,340 18,170

41,220 63,300 22,080 2,300 18,410

2,340/4,970 4,900,/6,470 2,560/1,500 110./310 1,580./1,160

55%/61% 57%/60% N/A N/A 62%/65%

8% 8% 7% 37% 6%

60 60 50 (490F), 35 (490W) 40 35

50 60 N/A 35 35

URBAN INTERSTATE — URBAN INTERSTATE — DIRECTIONAL RAMP — FRONTAGE ROAD URBAN ARTERIAL

YES YES YES YES YES

SUPPLEMENTAL | sPECIAL
STANDARD CONSTRUCTION DRAWINGS SPECIFICATIONS| PROVISIONS
800 7/30/16

OIL & GAS PRODUCERS
UNDERGROUND PROTECTION SERVICE

1-800-925-0988

PLAN PREPARED BY:

E.L. ROBINSON
ENGINEERING

1468 West 9th Street - Cleveland, Ohio 44113
www.elrobinsonengineering.com

CONSTRUCTION COMPANY INC, E

ENGINEERS SEAL:

DATE: 10/18/2017

APPROVED
DATE DISTRICT DEPUTY DIRECTOR
APPROVED
DATE DIRECTOR, DEPARTMENT OF

TRANSPORTATION

BU8 - CLEVELAND PUBLIC POWER RELOCATION

CUY-77-13.80

NO. DATE DESCRIPTION

ISSUE RECORD

&

2017-10-18.BU-8 CPP Relocation - RFC Plans



http://www.dot.state.oh.us/Divisions/ConstructionMgt/OnlineDocs/Pages/ProposalNotesSupplementalSpecificationsandSupplements.aspx

miutes

10/18/2017 1:55:49 PM

‘DILLE AVE

P:\82388_CCG6B\Design\Utilities\Sheets\82388_UB7001.dgn Sheet

SHEET 3

LEGEND

z

EXISTING CPP POWER POLE
W/LUMINAIRE

PROPOSED CPP POWER POLE

PROPOSED CPP POWER POLE
W/LUMINAIRE

PROPOSED DOWN GUY
CPP PROJECT POLE NUMBER
PROPOSED POWER DISTRIBUTION LINE

EXISTING POWER DISTRIBUTION LINE
(CABLE TO BE REUSED)

PROPOSED SPAN GUY

RELEASED FOR CONSTRUCTION
BU0O8 2017.10.18_BU8_ 82388 CCG6B.pdf
10/18/2017 Brian.Link

&

50
ey —
25 10
HORIZONTAL
SCALE IN FEET

CALCULATED| ©
KAE
CHECKED
MJH

CPP OVERHEAD POWER RELOCATION PLANS
SCHEMATIC PLAN

BU8 - CLEVELAND PUBLIC POWER RELOCATION

CUY-77-13.80

NO. DATE DESCRIPTION

ISSUE RECORD

&

2017-10-18.BU-8 CPP Relocation - RFC Plans




mlutes

10/18/2017 1:56:00 PM

' CPP POLE #1 (SE4- /34)
EXISTING TO REMAIN

Mzol\rgﬁs BU8 BZSS\QGG%d\
10/18/2W - Brlan Link>

3\» - -
~TEMP. P/wmf’
\’/’
1/ T™MP
; TEMP. POLE
l'cPP POLE #2

REMO £ EXISTING
cPP POLE (SE4-133)

j

STA 111+25, 31.5° RT

TEMP.
POLE

C - -
sm 113+32, 26. 7'/?7 ~

MGl b S

N

—Ex R/W @

TEMP. PRIMARY

S TP

711

S TEMP. POLE

P:\82388_CCG6B\Design\Utilities\Sheets\82388_UP7001.dgn Sheet

CcPP

REMOVE EXISTING
CPP POLE rsiz/—uz)

DOLE #5

TRANSFER POWER SERV
FROM POLE SE4-133 TO
POLE #3

STA 114+43.4, 28

CE

T™MP

RT

\444‘/\/474’4

" ROSEVILLE CT

.|

=t

—EX R/ W—=—

| T
PP /IOLE #6

'STA 49+70.0,
247 LT

Ex R/W

TMP —————e

MATCH LINE - SEE NEXT SHEET

REMOVE EXISTIN
CPP POLE (SE4-I3]

CPP POLE #7

%),

20
ey —
10 40
HORIZONTAL
SCALE IN FEET

AE
CHECKED
MJH

CALCULATED| ©
K

CPP OVERHEAD POWER RELOCATION PLAN
WEST END CONNECTION

CUY-77-13.80

STA 48+47, 127 LT
|
BU8 - CLEVELAND PUBLIC POWER RELOCATION
NO. DATE DESCRIPTION

ISSUE RECORD

&

2017-10-18.BU-8 CPP Relocation - RFC Plans




mlutes

10/18/2017 1:56:03 PM

P:\82388_CCG6B\Design\Utilities\Sheets\82388_UP7002.dgn Sheet

MATCH LINE - SEE PREVIOUS SHEET

e

) f\\\\:REMO VE EXISTING

_ CPP POLE (SE4-130)
N

B |

xéC‘F’P POLE #16 (SE4-129-1)
EXISTING TO REMAIN

CPP POLE #I5 \x\ }
>

STA 119+02, 41.0" LT

REUSE EXISTING
DISTRIBUTION WIRES

CPP POLE #14
STA 119+24, 27" LT

REMOVE EXISTING
CPP POLE (SE4-128)

%),

CPP POLE #I2 (SE4-127)
EXISTING TO REMAIN
(SEE NOTE 1.)

20
ey —
10 40
HORIZONTAL
SCALE IN FEET

CPP POLE #13 REUSE EXISTING
STA 20+28, 27 LT DISTRIBUTION WIRES
777777777777777777 e oty e

CALCULATED| ©
KAE
CHECKED
MJH

(PP POLE #9

CPP POLE #8 STA 47+22, 19" LT
STA 47+49, 28" LT
(DOWN GUY POLE) S

R R -
N REMOVE EXISTIN
v,j \ CPP POLE (SE4-129)

- - - - - - - —ZEz - = =
ST IS /7/,7/{\;@7 |
~ /
— g ’IT%"”/‘”""“”’“;E”;K;Q
R SRR R — = REMOVE EXISTING

~ - CPP POLE
(POLE No. UNKNOWN)

O 107182017 T [erastink

RESTORE POWER SERVICE
SEE LIGHTING PLANS

2-2" PVC CONDUITS
(CONCRETE ENCASED)

CPP POLE #1
/ STA 120+86, 53" RT
/ (DOWN GUY POLE)
; |CPP POLE #I0
_n -STA 120+63, 62 RT
RV

L/

CPP OVERHEAD POWER RELOCATION PLANs

EAST END CONNECTION

;\g:o\ﬁé\LR\L{CBON

BU08_2017.10\.\18_\BU8: 388 C \GB.pd@

RELEASED FO

BU8 - CLEVELAND PUBLIC POWER RELOCATION

CUY-77-13.80

DESCRIPTION
ISSUE RECORD

NO. DATE

2017-10-18.BU-8 CPP Relocation - RFC Plans




INSTALL CPP 15-7,
10° X-ARMS (DWG 8560)

(3) - 636 kemil
ACSR (26/7) GROSBEAK =
PRIMARY DISTRIBUTION——__ '\, 1

INSTALL CPF 15-2,
10" X-ARMS (DWG 8563)

(3) - 636 kemil
ACSR (26/7) GROSBEAK
PRIMARY DISTRIBUTION _

ATTACHMENT DETAILS (NOT TO SCALE)

207

INSTALL CPP 15-2
(DWG 8563) 10 X-ARMS

(3) - 636 kemil N
ACSR (26/7) GROSBEAK N
PRIMARY DISTRIBUTION _ A

INSTALL CPP 15-4

(DWG 8556) 107 X-ARMS
(WITH REDUCED TENSION (S)
DOUBLE X-ARM, DOUBLE
DEAD END

(3) - 636 kemil

ACSR (26/7) GROSBEAK
PRIMARY DISTRIBUTION —— !

18"

%),

20
ey —
10 40
HORIZONTAL
SCALE IN FEET

AE
CHECKED
MJH

CALCULATED| ©
K

mlutes

4/0 ACSR \ 4/0 ACSR T 4/0 ACSR " 4/0 ACSR N
NEUTRAL \ = NEUTRAL \ b NEUTRAL b NEUTRAL il .
CONDUCTOR | CONDUCTOR | CONDUCTOR | CONDUCTOR | ]
1/0 TRI-PLEX — o»I VO TRI-PLEX —— | = & | /0 TRI-PLEX — | = < 5 T 1/0 TRI-PLEX —— &
SECONDARY I h SECONDARY I SECONDARY I SECONDARY h
DISTRIBUTION — . DISTRIBUTION = d~ TRIBUTION = b~ r——— .
osTRBITION =13 AT Ty e AT s AT
(-\l' (:1‘\ =T = & = ~ [\
INTERCONNECT (3) COMMUNICATION S (3) COMMUNICATION o (3) COMMUNICATION
CABLE CABLES % CABLES S CABLES
(3) COMMUNICATION
CABLES
ELEVATION _— FLEVATION —— ELEVATION _— ELEVATION "
OF PROPOSED J OF PROPOSED . OF PROPOSED U OF PROPOSED 8
SIDEWALK SIDEWALK CPP POLE #3 SIDEWALK SIDEWALK
CPP POLE #2 ADDITIONAL ITEMS ON POLE: CPP POLE #4 CPP POLE #5
ADDITIONAL ITEMS ON POLE: - TRANSFER EX. TRAFFIC CONTROL CABINET ADDITIONAL ITEMS ON POLE: ADDITIONAL ITEMS ON POLE:
- U.S. BRACKET AND LAMP - PROPOSED SPAN WIRE (SEE SIGNAL PLANS) - TRANSFER EX. U.S. BRACKET AND LAMP - U.S. BRACKET AND LAMP
- TRANSFER EX. U.S. BRACKET AND LAMP - TRANSFER EX. FLOOD LAMPS
- TRANSFER EX. ROADWAY NAME SIGNS - TRANSFER EX. STREET LIGHTING SECONDARY (SW)
- TRANSFER POWER SERVICE FROM POLE - TRANSFER EX. ROADWAY NAME SIGNS
SE4-133
(3) - 636 kemil
REUSE EXISTING 4/0 ACSR 10 TRI-PLEX ~ ACSR (26/7) GROSBEAK
DISTRIBUTION WIRES NEUTRAL SECONDARY PRIMARY DISTRIBUTION
CONDUCTOR DISTRIBUTION \ )

BROADWAY AVE.

10/18/2017 1:56:05 PM

CPP OVERHEAD POWER RELOCATION PLAN
CPP POLES 1 THRU 5

P:\82388_CCG6B\Design\Utilities\Sheets\82388 _UF 7001.dgn Sheet

| ; EXIS UNG/
GROUND
CPP POLE #5J
CPP POLE #4

i 60’ CLASS HI POLE,
60’ CLASS 1 POLE, 9.0" DEEP IN GRAVEL

TRAFFIC | I 3 W2

INTERCONNECT || &i\ 21

CABLE : PROPOSED SN (8-17) (DETAIL "C*) TRIPLE
| (3) COMMUNICATION AN 2 X GUY ANCHOR (TYP.)
| CABLES (TYP.) GROUND x >N HELIX GUY ANCHO )

CPP POLE #2 / CPP POLE #3 /

(SE4-133) 60’ CLASS 1 POLE, 60’ CLASS HI POLE, ,
REMAIN CONNECTION TO CPP POLE #6)
ELEVATION VIEW BU8 - CLEVELAND PUBLIC POWER RELOCATION
NOTE: (VERTICAL NOT TO SCALE)

1) THE CONTRACTOR SHALL COORDINATE WITH

CUY-77-13.80

THE TELECOMMUNICATIONS COMPANIES RELEASED FOR CONSTRUCTION

REGARDING DOWN GUYS FOR TELE-COM LINES.
BUOS_2017.10.18_BUS_82388 CCG6B.pdf

10/18/2017 Brian.Link

NO. DATE DESCRIPTION

ISSUE RECORD

&

2017-10-18.BU-8 CPP Relocation - RFC Plans



mlutes

10/18/2017 1:56:06 PM

P:\82388_CCG6B\Design\Utilities\Sheets\82388_UF 7002.dgn Sheet

INSTALL CPP 15-4

(DWG 8556) 10 X-ARMS
(WITH REDUCED TENSION (N)
DOUBLE X-ARM, DOUBLE

ATTACHMENT DETAILS (NOT TO SCALE)

INSTALL CPP 15-2

INSTALL CPP 15-4 (DWG 8556)
TRIPLE X-ARM, TRIPLE DEAD
END SWITCHING POLE

®

i
’ <[t_J
DEAD END 107 X-APMS (DG 8563) (USE 10" CROSSARMS) 1
. : (3) - 636 kemil — 1 Do
(3) - 636 kemil p (3) - 636 kemil p— S
ACSR (26/7) GROSBEAK 2 ACSR (26/7) GROSBEAK N /@g%g% ;{5 %OBZ%% o =23
PRIMARY DISTRIBUTION — PRIMARY DIS TR]BUT[ON\ N > o .
4/0 ACSR ] f 4/0 ACSR W— aoie) E—"1 & " .
NEUTRAL . NEUTRAL k 5 e
CONDUCTOR——— Y coNpuC 709\ 5 / > J Y e
1/0 TRI-PLEX Q,L% 1/0 TRI-PLEX I 4/0 ACSR NEUTRAL ]
SECONDARY ] B SECONDARY ﬁs CONDUCTOR (V) o
DISTRIBUTION DISTRIBUTION :ﬁ/J 336 ACSR (F) (3) COMMUNICATION E
CABLES
(3) COMMUNICATION (3) COMMUNICATION O
CABLES CABLES E <
o
>
(@]
W
FLEVATION __— ELEVATION " C o
OF PROPOSED l g;o/z//?vgposw | = <
SIDEWALK CPP POLE #6 ELEVATION — M ok
OF PROPOSED i CPP POLE #3 oz
GROUND CPP POLE #7 = ?:
ADDITIONAL ITEMS ON POLE: i
- (3) - CPP 3-1 (DWG 8297) (IN-LINE 600A
DISCONNECT ) (CLOSED) c |
) w
(3) - 636 kemil o))
R D i
ACSR (26/7) GROSBEAK Tgﬁ‘;ng . =
PRIMARY DISTRIBUTION -t o 2
4/0 ACSR A_/ “ I
NEUTRAL a -
CONDUCTOR 4 T e <
7 /A | | \\\ \\ ©
/0 TRI-PLEX—_| o |\ k=Y —
SECONDARY 77 I NS T n
DISTRIBUTION y//w NN o T
. e |
N X \J\\\\\ \\\21 Z o
RING &
(3) COMMUNICATIO ECRIANN a
CABLES (TYP.) gggZﬁgED W' N 3
""""""""""""""""" EXISTING —7
] ) GROUND 1 | N e
CPP POLE #5 7 N CPP POLE #6 Y (PP POLE #7 ) . o
(SEE PREVIOUS SHEET 65’ CLASS 1 POLE, 9.5’ DEEP 70’ CLASS 1 POLE (8-17) (DETAIL "C*) s
FOR POLE INFORMATION) IN GRAVEL 9.0’ DEEP TRIPLE HELIX >
GUY ANCHOR ()
(8-17) (DETAIL “C") CPP POLE #9 v
TRIPLE HELIX 75’ CLASS H2 POLE, 10.5" DEEP IN GRAVEL ~
GUY ANCHOR (SEE NEXT SHEET FOR CONNECTION TO CPP ~
POLE #10) BUS - CLEVELAND PUBLIC POWER RELOCATION >
-
(3)

NOTE:

1) THE CONTRACTOR SHALL COORDINATE WITH
THE TELECOMMUNICATIONS COMPANIES
REGARDING DOWN GUYS FOR TELE-COM LINES.

RELEASED FOR CONSTRUCTION

BUOS_2017.10.18_BUS_82388_CCG6B.pdf

10/18/2017 Brian.Link NO. | DATE

DESCRIPTION

ISSUE RECORD

2017-10-18.BU-8 CPP Relocation - RFC Plans




NOTE:

1) THE CONTRACTOR SHALL COORDINATE WITH
THE TELECOMMUNICATIONS COMPANIES
REGARDING DOWN GUYS FOR TELE-COM LINES.

2) TRANSFER SINGLE PHASE OVERHEAD
DISTRIBUTION TRANSFORMER. 25KVA,
7970/13800Y - 240,480V WITH 2.5%
TAPS ABOVE AND BELOW RATED VOLTAGE.

INSTALL CPP 15-4
(DWG 8556) 10" X-ARMS
TRIPLE X-ARM, TRIPLE

DEAD END \

ATTACHMENT DETAILS (NOT TO SCALE)

18”

4/0 ACSR NEUTRAL— "]

40"
12

S

20
ey —
10 40
HORIZONTAL
SCALE IN FEET

CALCULATED| ©
KAE
CHECKED
MJH

mlutes

10/18/2017 2:42:22 PM

P:\82388_CCG6B\Design\Utilities\Sheets\82388_UF 7003.dgn Sheet

CONDUCTOR (E) T A
336 ACSR (W) / 7@
1/0 TRI-PLEX 3
SECONDARY
(3) COMMUNICATION
DISTRIBUTION CABLES
ELEVATION
OF PROPOSED
GROUND

INSTALL 7 PLP (CAT #5058103) U
AIR FLOW SPOILERS, SPACED AT 28.0° C/C

’ INSTALL 7 PLP (CAT #5058105) CPP POLE #I0
CENTERED IN THE SPAN, ON EACH CONDUCTOR AIR FLOW SPOILERS, SPACED AT 28.0° C/C
CENTERED IN THE SPAN, ON EACH CONDUCTOR

(3) - 636 kemil

ACSR (26/7) GROSBEAK (3) - 636 kemil

ACROSS 1-77

CPP OVERHEAD POWER RELOCATION PROFILE
POLES 10 THRU 12

PRIMARY DISTRIBUTION ACSR (26/7) GROSBEAK 336 ACSR ARM AND
N ) PRIMARY DISTRIBUTION NEUTRAL SPAN GUYS
ARM AND d (2ND CIRCUIT, IDLE) CONDUCTOR
SPAN GUYS< A
| S N— \ \
/|| span suy._
S/ lspangur ]
§/I/// /,’ /// ___________________________
Sy 77| SPAN GuY 4 —————— PN Y|]
Q‘,’l//'l //// ///\ ~
NS ) 22+ conpurF—" ]
S i A 1/0 TRI-PLEX leERS
it S SECONDARY
A PROPOSED (3) COMMUNICATION DISTRIBUTION (PP POLE #10 -
F e GROUND W‘ CABLES (TYP.) 75° CLASS H2 POLE, 10.5°
A, DEEP IN GRAVEL I _
------- - EXISTING ’
\ _______________________ ~ CROUND \ / (8-17) (DETAIL C")
U \ I y TRIPLE HELIX
CPP POLE #9 . Ve
(SEE PREVIOUS SHEET =~ ‘S~ 777 T CPP POLE #Ii 25.0° GUY ANCHOR
FOR POLE INFORMATION) ]700, DCELE“;iN’ g ROAL vEé , 0.0
CPP POLE #8 45.0°
8-17) (DETAIL "C9 70’ CLASS 1 POLE, 10° 2-2" CONDUITS, 36” COVER OVER CONCRETE :
TRIPLE HELIX DEEP IN GRAVEL ENCASEMENT (RESTORE POWER SERVICE TO
ODOT LIGHTING CONTROL CENTER)
GUY ANCHOR BUS - CLEVELAND PUBLIC POWER RELOCATION

CUY-77-13.80

RELEASED FOR CONSTRUCTION

BUOS_2017.10.18_BUS_82388_CCG6B.pdf

10/18/2017 Brian.Link NO. DATE DESCRIPTION

ISSUE RECORD

2017-10-18.BU-8 CPP Relocation - RFC Plans

&



mlutes

10/18/2017 1:56:09 PM

P:\82388_CCG6B\Design\Utilities\Sheets\82388_UF 7004.dgn Sheet

ATTACHMENT DETAILS (NOT TO SCALE)

INSTALL CPP 15-4
(DWG 8556) 10" X-ARMS

L),

INSTALL CPP 15-7 (WITH REDUCED TENSION (S) 8
(DWG 8560) (WITH REDUCED a
TENSION (N) AND (S)) DOUBLE X-ARM, DOUBLE 24
DEAD END (WITH REDUCED St
TENSION (NW)) A 8=
(3) - #2 PRIMARY > =
D[STR[BUUON\ 5 - 82 PRIMARY . 23
1/0 ACSR — DISTRIBUTION ° °
NEUTRAL \ g |-
CONDUCTOR b 170 ACSR - sulE g
\ NEUTRAL 5 23
1/0 TRI-PLEX - CONDUCTOR\ 5 2
SECONDARY > |—
DISTRIBUTION 170 TRI-PLEX oy
SECONDARY — ~ 3 ) = -
DISTRIBUTION —— ] < ¢
~ hr >
Q
S a <
5 >
9 S <
LEvATION — = E
?Zo@@?f OSED ) ELEVATION — Zt, <
OF PROPOSED i o o
CPP POLE #15 GROUND CPP POLE #14 o &
ADDITIONAL ITEMS ON POLE: ADDITIONAL ITEMS ON POLE: w
~ TRANSFER EX. ROADWAY NAME SIGNS - TRANSFER EX. U.S. BRACKET AND LAMP x
o ©
(3) - #2 PRIMARY e -
DISTRIBUTION = 5
REDUCED REUSE EXISTING or
170 ACSR DISTRIBUTION WIRES o T
NEUTRAL (636 kemil ACSR) -
CONDUCTOR ) ] a
L VO REUSE 636 === i < &
i | U | 1 w
REUSE EXISTING : ! L o
DISTRIBUTION WIRES—"1} R & w
(1/0 ACSR) ! | REUSE NEUTRAL =T § S -
(REDUCED TENSION) 1 | | i o
o A | e 1 § CPP POLE #I2 o a
REUSE NEUTRAL / ——————— / (SE4-127) N
f ¥ EXISTING TO REMAIN a
H ;. 1/0 TRI-PLEX i a
REUSE TRIPLEX g /,éq% o , f a ?5
PROPOSED | R § DISTRIBUTION ,//ZPQ§ (3) COMMUNICATION ¥ EXISTING
' ¥ i . 3
.............................. B N A pabs e } GROUND
CPP POLE #16 - - | (8-17) (DETAIL ”C”)j \ o
(SE4-129-1) TRIPLE HELIX posd
EXISTING TO CPP POLE #I5 GUY ANCHOR CPP POLE #13 :
' (SEE NEXT SHEET L)
REMAIN 55 CLASS | POLE, FOR POLE INFORMATION) -
9.0" DEEP IN GRAVEL .
CPP POLE #14 ~
(8-17) (DETAIL "C”) 60’ CLASS 3 POLE, ’T
éi‘ffﬁcfé? 5.0° DEEP BUS - CLEVELAND PUBLIC POWER RELOCATION >
RELEASED FOR CONSTRUCTION 3
BUOS_2017.10.18_BUS_82388_CCG6B.pdf
10/18/2017 Brian.Link
NO. DATE DESCRIPTION
ISSUE RECORD \23/

2017-10-18.BU-8 CPP Relocation - RFC Plans




mlutes

10/18/2017 1:56:10 PM

P:\82388_CCG6B\Design\Utilities\Sheets\82388_UF 7005.dgn Sheet

ATTACHMENT DETAILS (NOT TO SCALE)

INSTALL CPP 15-5 (DWG 8557)
3-PHASE, 3-WAY DEADEND
(USE 10" CROSSARMS)

(3) - 636 kemil

ACSR (26/7) GROSBEAK
(%)

PRIMARY D[ST/?]BUT[ON\

CPP 15-5 (DWG 8557) ——— ]
USE 10" CROSSARM

207

12’

L),

20
ey —
10 40
HORIZONTAL
SCALE IN FEET

AE
CHECKED
MJH

CALCULATED| ©
K

4/0 ACSR NEUTRAL
CONDUCTOR (S) =i Ay S Zuw
TIE INTO EXISTING }J/ﬁm 5>
NEUTRAL (E & W) / — 3 <
170 TRI-PLEX Q
SECONDARY & = >
DISTRIBUTION 5 o ;
(%) —
(3) COMMUNICATION " =3
4/0 ACSR caplés | i S <
%%%me (3) - 636 kemil ELEVATION / o g
ACSR (26/7) GROSBEAK OF EXISTING i -l o
1 PRIMARY DISTRIBUTION GROUND g
CPP POLE #I2 '
1/0 TRI-PLEX  / ADDITIONAL ITEMS ON POLE: o
SECONDARY 7 \ - TRANSFER EX. U.S. BRACKET AND LAMP TR
DISTRIBUTION =
///¢_\\ \\\ O :
S \ o
o P o T
) \m =
(o)
< =
(8-19) HIGH CAPACITY % o
(8-17) (DETAIL "C" 10 SIDEWALK GUY ol
TRIPLE HELIX w
GUY ANCHOR > 0
------ ¢ T O a
BROADWAY AVE ~_
(8-17) (DETAIL "B") a o
(3) COMMUNICATION - DOUBLE HELIX a o
CABLES (TYP.) / ‘\Gw ANCHOR 0o
# /7
PP POLE #10 CPP POLE #12 65' CLASS H] POLE
Cerr SHEFT 7 FOR 9.5 DEEP IN GRAVEL
Sy (SEE PREVIOUS SHEET FOR CONNECTION
OLE INFORM. ) TO CPP POLE #13)
o
©
™
-
1
N
N
BUS - CLEVELAND PUBLIC POWER RELOCATION >'.
NOTE: RELEASED FOR CONSTRUCTION =
1) THE CONTRACTOR SHALL COORDINATE WITH o
THE TEL ECOMMUNICATIONS COMPANIES BUOS_2017.10.18_BU8_82388_CCG6B.pdf
REGARDING DOWN GUYS FOR TELE-COM LINES. 10/18/2017 Brian.Link
NO. DATE DESCRIPTION
ISSUE RECORD \23/

2017-10-18.BU-8 CPP Relocation - RFC Plans




.

—
L4

= ' FOR SPAN GUYS
DEADEND CLAMPE USE TWO 5/8
(SIZE PER CDNDUCTUR) BOLTS_

DEADEND CLAMP
(SIZE PER CONDUCTOR} e~ @/

i = = e\ =% Il I )
mﬁ 2 o = A o (;

mlutes

10/18/2017 1:56:12 PM

6\

LOOF GUY STRAND THRU
ROLLER AND BACK TO

INSULATOR & TIE WIRE 500 A, NEMA USE SAME SIZE ANCHOR.
T s i RO 2
WEDGE TYPE
CONNECTOR
DETAIL A DETAIL B DETAIL C DETAIL D

FOR SPAN GUYS

NOTE: ARRESTERS ARE TO BE INSTALLED BILL OF MATERIALS _
ON ALL SWITCH PHASES AT e ITEM Slack O REGD.
POLES AHEAD & BACK. 1 | MACHINE BOLT 7/8 x LENGTH REQD. JOSLYN Jsos2—3074 2 | 2 | 1 | 2
2 | SQUARE CURVED WASHER 15,/16" HOLE JOSLYN J6828 2 2| 1| 2
3 | GUY PLATE , TWIN ATTACHMENT FLAGG PX—42 1
4 | FIBERGLASS STRAIN INSUL. 54" FLAGG 300-54 2 2| 11
5 | GUY HOOK FLAGG P139 2 | 1 NOTE:
6 | WASHER. SPRING FOR 7/8" BOLT JOSLYN J3542 2 DETAIL © & D MAXIMUM
e 7| MACHINE BOLT, 3/4" x LENGTH REQ'D. JOSLYN JB908-8926 2 LOADING ON FLAGG P139
|_mm o0 8 | WASHER, SPRING FOR 3/4” BOLT JOSLYN J3541 2 IS 20K ‘ﬁm
= 9 | WASHER, SQ. CURVED 3x3x1/4, 11/16" HOLE JOSLYN JBB23 2 ==
CLEVELAND PUALIC POWER | 10 | PREFORMED GUY GRIP PER STAND SIZE 4| 4 2] 2 % CLEVELAND PUBLIC POWER
IN—UNE FULL TEMSION " 1
s0p oHNE TULL TNSION LAG SCREW 3x1/2 FETTERDRIVE DRIVE POINT _|JOSLYN J8753P DBL. GUY CONFICURATIONS
o BRI — 12| SPAN GUY ATTACHMENT CONOLINE UGA—66-6] ! —
(o | o { oo B297.4 = e 02423

P:\82388_CCG6B\Design\Utilities\Sheets\82388_GD8001.dgn Sheet

CALCULATED
KAE
CHECKED
MJH

CPP STANDARD DRAWINGS

BU8 - CLEVELAND PUBLIC POWER RELOCATION

RELEASED FOR CONSTRUCTION

CUY-77-13.80

BUOS_2017.10.18_BUS_82388 CCG6B.pdf

10/18/2017 Brian.Link

NO. DATE DESCRIPTION

ISSUE RECORD

2017-10-18.BU-8 CPP Relocation - RFC Plans




mlutes

10/18/2017 1:56:19 PM

@
R
| T

— ;
(?:{ i E‘ a
(=4 %)
. E:
= ] —
i } 7
= T §
imsmu_ PORCELAIN GUY STRAIN
INSULATOR ON EACH SIDE OF
LINE CROSSINGS |
ADDITIONAL SPAN GUYS TO BE |
ADDED AT ENGINEERS REQUEST
l
|
1
ull . LD TA
I & ROAD SIDE
OF POLE B
I
- o
. AN AN
5, NN TIE: 7
ool ol ~ K
o ljnu= ! y
wEE o
&+|doia 5 b
L Z I
BE|7%o
- |

SEE DWG B724

#,

TYPICAL OF
DOWN GUYS

P:\82388_CCG6B\Design\Utilities\Sheets\82388_GD8002.dgn Sheet

SulEz
5 <|lo 2
S x “g =
BILL OF MATERIALS
ITEM STOCK NO.
N, ITEM NO. REQ' D
1 GUYT ATTACHMENT, MIN. ULT. 35K FLAGG P1354 1 PER GUY
2 CLEVIS THIMELE 5/8" PIN JOSLYN JS555 1
3 EYE MUT FOR 5/8" BOLT, OVALEYE JOSLYMN 092 1 PER GUY
4 BOLT, MACHINE 5/8" X LENGTH REGD JOSLYN JBBOB TO BAZ4 1 PER GUY
5 GUY GRIF FER STRAND SIZE 1 PER GUY
B PORCELAIN GUY STRAIN INSULATOR PP 506 AS REQD
7 GUY STRAND PER ENGINEER AS REQD
8 SOUARD CURVED WASHER 11/16" HOLE 3x3x1/4 JOSLYN J13 1 FER GUY
g GUYGUARD, PLASTIC BFT.. YELLOW JOSLYN J1483Y 1 PER ROD
' 10 EYENUT FOR 1" RCD, TWINEYE CHANCE B562 1 FER GUY
1 ANCHOR ROD 1" X 7' CHAMCE 12334P 1 PER GUY
12 ANCHOR SINGLE OR DOUBLE HELIX CHAMNCE E 102—0820/0823 | 1 FER GUY (7))
)
MOTE: ALL STOCK ITEMS ARE "OR EQUIVALENT™ WITH EMGINEER APPROVAL. E
= TRIPLEYE WUT AS REQUIRED BY ENGIMEER. ;
®= = |JNLESS SPECIFIED OTHERWISE BY EMWGIMEER
<<
(2 s
(]
(]
(2 s
<
(o]
Z
<
-
(7p)
o
(a8
(&)
(9]
DAL
kN
< Y,
W
ALL —_—
BiCK
POYTHH
—
L CLEVELAND PUBLIC POWER
STUB POLE o
— T F___w o0
AR e 0 T A oy ) S— L B244.3 «5
-
1
N
N
1
BU8 - CLEVELAND PUBLIC POWER RELOCATION S
-
RELEASED FOR CONSTRUCTION o
BUO8_2017.10.18_BU8_82388_CCG6B.pdf
10/18/2017 Brian.Link n
NO. DATE DESCRIPTION .
ISSUE RECORD @

2017-10-18.BU-8 CPP Relocation - RFC Plans




mlutes

10/18/2017 1:56:26 PM

BILL OF MATERIALS

LOCATE AT CE BTROID

OF TOTAL LOA N ITEM Shock NO. REQ'D
B4y B—44
e || GUY STRAND 20M 0
| GUY STRAND 12.5M .
e Z GUY GRIP, FORMED TYPE PER STRAND SIZE 4 4
3 FIBERGLASS STRATN [NSULATOR 54+ FLAGE 300-54 1 1
° 4 | GUY PLATE FLAGG PX3TB 1
4 | GUY PLATE FLAGG P139 1
MACHINE BOLT T/8 ¥ REG'D LENGTH JOSLYN J30BZ-307T4 2 1
WASHER SPRING FOR 7/8 BOLT JOSLYN J3542 2] 1
WASHER SOUARE CURVED 3—1/2x3-1/2%3/8, |5/16 HOLE | JOSLYN JEB2E 2 1
PORCELAIN GUY STRAIN INSULATOR PPSOE 1 1
GALV. STEEL PIPE, PER REQ'D. LENGTH % 27" DIA., SCH. 4 = 1 1
1
LOCATION OF PORCELAIN 0| POLE PLATE — JOSLYN Joh21 1 1
STRAIN™ INSULATOR ~ ——_| 11 | LAG SCREW 2" x 4 HANCE 508754 3l 3
1 ANCHOR TO BE INSTALLED IN LINE 12 | END FTITING W/CLAMP, DOUBLE GUY JOSLYN J0522 1 1
WITH GUY OF SINGLE GUY APPLICATION
NOTE: ALL STOCK ITEMS ARE "OR EQUIVALENT" WITH EMGINEER APPROVAL
2 ANCHOR ROD TO BE INSTALLED ON BISECTOR TOP OF * AS REQUIRED
OF THE GUYS WHEN USED IN A DOUBLE GUY
APPLICATION.

COMMUNICATION SPACE

/m EN REQ'D.

SIDEWALK GUYS

‘ B ENGINEER ‘
r S0 1
FOR 6' GUY LEAD
GUY WA, TOTAL LOADING WIN FOLE
[STRAND | 38" & 40" PQE_g 45" & 50" POLEYSS & 60" POLEY CLASS
DETAIL "B” A 200M 3000 2400 2000 2
[B] 125u 1800 1500 1300 3
" "
DETAIL A 10'—0
P OrR B8'-0" M
T
™~
- - O FOR 10 GUY LEAD
" GUY MAX. TOTAL LOADING MIN POLE
ANCHORS SHOULD BE TESTED TO WITHSTAND g + T T Ian' & &0 B rd
THE LOADS AS INDICATED FOR CLASS (5) — STRAND | 35" & 40' POE_E 45" & 50" POLEYSS & 60° POLEY CLASS
SOILS ON THE STAKING SHEETS. (D | #] 200M 4800 4000 3300 1
— B[ 1254 3000 2500 2100 2
MOTE: NOTE: LOADS INCLUDE APPROPRIATE OVERLOAD CAPACITY FACTORS
U PIPE LENGTH TO SPECIFY GUY GUARD, POLE BUTT SUPFORT, AND ANCHOR SEFARATELY
PRODUCE VERTICAL GUY.
BECE :::: BECK
0o =] POYTERH
= ) o=
* il CLEVELAND PUBLUC POWER
CLEVELAND PUBLIC POWER ‘ ||
I
i

DOWN GUY INSTALLATION

IRORIR

s S iy
it P B298.5

RELEASED FOR CONSTRUCTION
BU0O8 2017.10.18 BU8_ 82388 CCG6B.pdf
10/18/2017 Brian.Link

CALCULATED
KAE
CHECKED
MJH

CPP STANDARD DRAWINGS

BU8 - CLEVELAND PUBLIC POWER RELOCATION

P:\82388_CCG6B\Design\Utilities\Sheets\82388_GD8003.dgn Sheet

CUY-77-13.80

NO.

DATE

DESCRIPTION

ISSUE RECORD

2017-10-18.BU-8 CPP Relocation - RFC Plans




mlutes

10/18/2017 1:56:32 PM

BES4.3

n
‘ CLEVELAND PUBLIC POWER
iy

5
z
=z
2
Bl 2| & o
= = b
S g
% g ‘IG” é -igé
2l - A\ :
% : S A E
VAN S
5 < /ANCHOR ROD EYE |
N |
& RERLAN RN K ;
i
i D
ki " i
GUY LEAD hul
ON STAKING SHEETS i
HEHAD

/N

FLAT  SURFACE

IMAGINARY FLAT *©

SURFACE

HL”
GUY LEA

CE OF POLE
OFF LOWSIDE
OF POLE "H"

ATTACHMENT HT.

D

ON STAKING

SHEETS

SLOPED  SURFACE

GUY LEAD
ON STAKING SHEETS

IMAGINARY FLAT
/SUF-‘:‘FACE

ANCHOR ROD EYE

NOT TO SCALE
8-5

BILL OF MATERIALS
o: i R
1| CROSSPLATE ANCHOR
2 | ANCHOR ROD 17 x 7, TWINEYE
3 | EYENUT FOR 1" ANCHOR ROD TWINEYE
4
ALL STOCK ITEMS ARE OR EQUIVALENT WITH ENGINEERS APPROVAL.

N
REQ' O

CHANCE ¥—24
CHANCE 12334F
CHANCE 6562

—|=|-|E2

ROD SLOT /

/O [;6” MIN., MAX 9" AFTER STRAIN APPLIED

=
POYTEH
=

BACKFILL

CLEVELAND PUBLIC POWER

EXPANDING ANCHOR

[ —
| s weLEH. .-

—ow
BEB4.2

CALCULATED
KAE
CHECKED
MJH

CPP STANDARD DRAWINGS

BU8 - CLEVELAND PUBLIC POWER RELOCATION

P:\82388_CCG6B\Design\Utilities\Sheets\82388_GD8004.dgn Sheet

RELEASED FOR CONSTRUCTION

BUOS_2017.10.18_BUS_82388_CCG6B.pdf

10/18/2017

Brian.Link

CUY-77-13.80

NO. DATE DESCRIPTION

ISSUE RECORD

2017-10-18.BU-8 CPP Relocation - RFC Plans




mlutes

10/18/2017 1:56:40 PM

/ EYENUT AS SPECIFIED BY ENGINEER

AL

HOLE TO BE 2" LARGER
IN DIAMETER THEN
ANCHOR_AND AUGERED
ON BATTER OF GUY CONCRETE BACKFILL
3500 P3I

NO. 57 AGGREGATE
e 67% AIR ENTRAINMENT
N
b .
A DEFORM AUGERED HOLE
RN

10" DBL. HELIX ANCHOR

CLEVELAND PUBLIC POWER

CONCRETE BACKFILL ANCHOR

0"

BILL  OF MATERIALS

™ e w3 0
1| cuv woox FLAGG P139 2
2 |BOLT, MACHINE 7/8° mm
3 | WASHER, SPRWG FOR 7/8" BOLT JOSLYH E:; i
4| WASHER, 3O CURVID 15/18° HOLL JOSLYM 8878 3
5 |LAG SCREW 3 X 1/2 FETIER Dane J0SLY_ 87838 [
& |PoLE STRUT JOSLYN JO502 1
7_J20u cuy sTaND —— AS REQD
8 |PrRoF Y 200 e 2
9 |30° PEERCLASS STRAM WNSULATOR FLAGG 300-38 - 2

B
GE uma:ommu

i

] Ll POLE STRUT
113 ASSEMBLY

-

P:\82388_CCG6B\Design\Utilities\Sheets\82388_GD8005.dgn Sheet

RELEASED FOR CONSTRUCTION

BU8 - CLEVELAND PUBLIC POWER RELOCATION

BUOS_2017.10.18_BUS_82388_CCG6B.pdf

10/18/2017 Brian.Link

NO. DATE DESCRIPTION

ISSUE RECORD

2017-10-18.BU-8 CPP Relocation - RFC Plans

CALCULATED
KAE
CHECKED
MJH

CPP STANDARD DRAWINGS

CUY-77-13.80




mlutes

BILL OF MATERIALS

0
2 = 1| GUY HOOK FLAGG F138 2
_"| I"_RM(E AS SPECIFIED [T " BOTTOM BOLT OF 2 | BOLT, MACHINE 7/8" 2l Gy 3
1 m[ EUOUhF'HHNEUBI;D:C?(TEUFR 3 | WASHER, SPRING FOR 7/8" BOLT JOSLYN 3542 3
1 T ® 4 | WASHER, 50 CURVED 15/16" HOLE JOSLYN J6828 3
g 5 |LAG SCREW 3 X 1/2 FETTER DRIVE JOSLYN JBTS3P 4
| ] POLE STRUT JOSLYN JO502 1
R dem 7 | 20M GuY sTRAND — AS REQD
8 | PREFORMED GUY GRIP, 20M — 4
9 | 36" FIBERGLASS STRAIN INSULATOR FLAGG 300—36 [
10| PORCELAIN INSULATOR FP—708 [
11 [GUY GUARD, PLASTIC BFT YELLOW JOSLYN 114834 1
12 [EYENUT FOR 1" ROD TWINEYE CHANCE 6562 1
\@ 13 | ANCHOR ROD 7'x1” CHANCE 12334F 1
14 | ANCHOR SINGLE OR DOUBLE HELIX e100- 090 7e2s 1

NOTE: 1. SINGLE OR DOUBLE HELIX AS
RECUIRED BY SOIL CAPACITY AND
LOAD SPECIFIED BY ENGINEER

g5
-
Egs
b—m“"
2
Igm
- 5o
“.:‘Eg
edt
=e32
wFS
x X
Ll
28
B2
£22
283
200

NOT REQD IF
" NOTE 1 APPLIES

MOTES:

IF GUYS PASS WITHIN 12" OF BOTH SUPPLY AND
COMMUNICATION CONDUCTORS, THE PORCELAIN STRAIN
INSULATOR SHALL BE INSTALLED BETWEEN THE LOWER
SUPPLY AND UPPER COMMUNICATION CONDUCTORS,

MAY BE USED FOR DEAD—END OR BISECTOR APPLCATION.

W O

NOT TO BE USED WITH NEUTRAL GUYT WHEN GROUND BOND IS MADE.

10/18/2017 1:56:46 PM

[f=—10" MIN

[l
=
Tl
I
=

1T
i
T
T

T
i
!

o
ab| of N
== p [ Tnde BCX
== LEAD AS SPECIFIED — 0 L4 E G ]
v j—— | vel35 £ =
— % CLEVELAND PUBLIC POWER Y - CLEVELAND PUBLIC POWER
INSULATED DOWN—GUY O POLE STRUT WTH ANCHOR
R ] s o A
0 [ o o | P — LI |
o el -vn - -l 87241 ks o e -

P:\82388_CCG6B\Design\Utilities\Sheets\82388_GD8006.dgn Sheet

CALCULATED
KAE
CHECKED
MJH

CPP STANDARD DRAWINGS

BU8 - CLEVELAND PUBLIC POWER RELOCATION

RELEASED FOR CONSTRUCTION

CUY-77-13.80

BUOS_2017.10.18_BUS_82388_CCG6B.pdf

10/18/2017 Brian.Link

NO. DATE DESCRIPTION

ISSUE RECORD

2017-10-18.BU-8 CPP Relocation - RFC Plans




mlutes

10/18/2017 1:56:53 PM

CALCULATED
KAE
CHECKED
MJH

P:\82388_CCG6B\Design\Utilities\Sheets\82388_GDB8007.dgn Sheet

@Nn
Z
-_
@) OO (%) =
' il % e 7o - ONO - o
4 ! Lt Ve = / A o
= ::{% {. ‘]- igﬁﬁ%iu mﬂﬂ:):.—[:gj {r
! : (]
o
=
[
LOCATION OF PORCELAIN LOCATION OF PORCELAIN N
= T STRAIN INSULATOR STRAIN INSULATOR ASSEMBLY 8-15A ASSEMBLY 8-15B & 8-151
. a
o a
TOP OF COMMUNICATION SPACE TOP OF
CONMUNICATION SPACE
= o
ASSEMBLY 8—11A
BILL OF MATERIALS BILL OF MATERIALS ]
ITEM 11EM ST0CK . REQ'D
o e "o, P CRIFE=T: ASSEMBLY 8-118 . ro. T P
’ ) _ — = ] GUY STRAND 20W .
|| GUY STRAND 20M * & 8-11C [T [ GUY STRAND 12,50
|| GUY STRAND 12.5N " T oS TR T
; gﬂ: z;ﬁfNED::ED TYPE FER _STRAND SIZE | : I RGN PP SR e TS BE FER STRAND SITE Z 4 B
3 | FIBERGLASS STRAIN INSULATOR 54" FLAGG 300-54 ] i NOTE: B : E:EE:Et:és SIENNETIRUATON Cir ;t:gz :33;:* g O P I
+[our rLate FLASG P35 N 1.SPECIFY GUY GUARD AND T oo AT Lacs e " 2N
5 | MACHINE BOLT 18 X REQ'D LENGTH JOSLYN Jo062-3074| 2 | I ANCHOR SEPARATELY : ::ﬁ:]:: ggt: ;:E : :Eg:g tg:g:: JOSLYN J9062-3014 | 4 | 2
5 | MACHINE BOLT 3/4 X REQ’D LENGTH JOSLYN JB308—8926 i 6 | WASHER SPRING FOR 7/8 BOLT jﬁit:: j§§?§'5°2‘ . :
6 | WASHER SPRING FOR 7/8 BOLT JOSLYN J3542 2] 1 EST’-"'-E' CONSULTANTS & | WASHER SPRING FOR 374 BOLT JOSLYN J3541 2 Eﬂ—ma.—"—
? ::::Eg :EE;:E Eﬁgvéff?ﬂx: 1/72X3/8B, 15716 HOLE jgit:: j;:;; 21 I . W T_| WASHER JOUARE CURVED 3-1/2XS-1/2X3/F. (5716 WOLE | JoSLvN JeBza 4] 2 : e
= - - ]
T | WASHER SOUARE CURVED 3 X 3 X I/4, 13/16 HOLE JOSLYN J6823 i Gy o100 i rowen | EASH A UARELCORVE DIJ5 RS X RL/ 4015/ THOUE J0SEINEIGRES z Gy cLeveLsn suacic poven
B PORCELAIN GLIY STRAIN INSULATOR PP50E | | | INSULATED DOWN GUY —
45 REQUIRED (_I' * AS REQUIRED INSULATED OVERnEnDriu.v
e e I L o o ol e T e PPSI04z | |
o0
o
(0]
-
1
N
N
1
BU8 - CLEVELAND PUBLIC POWER RELOCATION S=
RELEASED FOR CONSTRUCTION o
BUO8 2017.10.18 BU8 82388 CCG6B.pdf
10/18/2017 Brian.Link
NO. DATE DESCRIPTION %
ISSUE RECORD

2017-10-18.BU-8 CPP Relocation - RFC Plans




mlutes

10/18/2017 1:56:59 PM

BILL OF MATERIALS
LOCATE AT CENTRCID 4
Loas BILL OF MATERIALS OF TOTAL LOAD s (TEM (TEW STOCK N,
TTEM W T -1 MO, NO REQ'DY
MO, ren SW '—A_m——"s-ﬁn : \. GUY STRAND Z0M - *
1 |IWINEVE MUT FOR 1* mucHOR ROD CHANCE 6562 1 —— 3 GUY_GRIP, FORMED TYPE PER_STRAND SIZC 8
2 [TRIPLEYE ADAPTER FOR 1| 1/2° SHAFT CHANCE C182-5025 — FIBERGLASS STRAIN [NSULATOR 54" FLAGG 300-54 2
3| AHCHOR - SINGLE TELIX, Te- CwecE Eiorpea—————+—— GUY_PLATE FLAGG PX37 z
4 | ANCHOR - DOUBLE HEL Ix, 18" s LT i 2D ACHINE BOLT 178 % RED’D LENGTA JOSLYN J3D6Z-8074| &
5 | oA TR .. E182-8823 ] [0 ASHER SPRING FOR 7/8 BOLT JOSLYN 13542 z
LE HELIX, 14 CHANCE CI10-9%84 T 2 ASHER SOUARE CURVED 3-|/2K3-1/2X3/8, 15716 HOLE | JOSLYN J6B28 %
6 |ANCHOR ROD - 78" X 1° CHCE 12230P : — 1 ORCELAIN GUY STRAIN_INSULATOR FRS0E z
7 |ANCHOR SraFT EXT. - 5 .8 X 1 172 CHANCE C118-9479) —— 9 | GALV. STEEL PIPE, PER REQ'D. LENGTH ¥ 2 1/2” DA , SCH. 40 - !
MOTE: ALL STOCK ITEMS ARE "OR EQUIVALENT® V1TH ENGINEER APPROVAL 10 ] POLE PLATE JOSLN 5921 !
1 | LAG SCREW 172" x & CHANCE 508754 0
LOCATION OF PORCELAIN 2 12 EMD FTTING W/CLAMP, DOUELE GUY JOSLYN J0522 1
ULTIMATE HOLDING CAPACITY STRAIN INSULATOR —— 13 | CUY CLAMP JOSLYN Ja31 1
CLASS 6 SOIL NOTE: ALL STOCK ITEMS ARE "OR EQUIVALENT' WITH ENGINEER APPROVAL
A [12,000 LBS 1 * 45 REQUIRED
B _|20.000 LBS -
e e TOP_OF COMMUNICATION SPACE % 12)(13
* g
HNOTE == 8
IMSTALL EXTEMSION RODS AS REOUIRED.
T0 DEVELDP HOLDIND STREMOTH. —li o [ [
=
| @ FOR 6' GUY LEAD
i GUY WEX. TOTAL LOADING WIN FOLE
} STRAND [35 & 40 POLES4S & 50° POLESSS & B0 POLES| CLASS
i 2x20M 5,100 4,900 4,000 H3
i \ [
; g DOUBLE
i 10'=0
i OR 6'-0"
. |
™
— FOR 10' GUY LEAD
i Q CUY | MAX, TOTAL LOADING MIN FOLE
| STRAND (357 & &0 POLFSES & 50' POIES[SS & 60 POLES| CLASS
2x20M 5,500 8,000 6,700 3
WOTE: LOADS [NCLUDE APPROPRISTE OVERLOAD CAPACTTY FACTORS.
e SPECIFY GUY GUARD, POLE BUTT SUPPORT, AND ANGHOR SEPARATELY.
CUT FIPE LEMGTH TO
PRODUCE VERTICAL GUY.
DETAIL A DETAIL B
s DOUELE
STANLEY COMSULTANTS
(90] E STAMLEY CONBULTANTE | ) E, —
hl.l ii CLEVELAND PUBLC POWER
~d CLEVELAMD PUBLIC POVER h HIGH CAPACITY
- o —_ NI NI NP i SIDEWALK GUY
= m POWER SCREW w0 //\///\///\///~
s = e ———F A
5 B e i [
] e L ok ——— oxmE orera]_CPPSID?

P:\82388_CCG6B\Design\Utilities\Sheets\82388_GD8008.dgn Sheet

CALCULATED
KAE
CHECKED
MJH

CPP STANDARD DRAWINGS

BU8 - CLEVELAND PUBLIC POWER RELOCATION

RELEASED FOR CONSTRUCTION

CUY-77-13.80

BUOS_2017.10.18_BUS_82388_CCG6B.pdf

10/18/2017 Brian.Link

NO. DATE DESCRIPTION

ISSUE RECORD

2017-10-18.BU-8 CPP Relocation - RFC Plans




mlutes

10/18/2017 1:57:05 PM

BILL OF MATERIALS
TTEM STOCK NO.
BILL OF MATERIALS No. ITEM fo: REG
ITEM ITEM STOCK NO. REQD ; f:‘::::'ERR:E'i':DSD JOSLYN J6497 | AS 'TEOD
NO. MO, = = 3 —
v 6-20A | 8-208 3 | WOOD MOULDING, BFT, HUGHES 2501.8 1
1 | ANCHCOR, EXPANDING, 200 SQ. IN., 10" HOLE CHANCE 1082 1 . + T GALY. STAFLE OVERWO%0 WOLDIG e 17453 noa [AS REdD
1 | ANCHOR, EXPANDING, 300 SQ. IN., 12" HOLE CHAMCE 12B3-1 —_ 1 i
2 |ROD, ANCHOR, 1" X 10° CHANCE 5370 1 1 NOTE: ALL STOGK ITEMS ARE “OR EQUIVALENT® WITH ENGINEER APPROVAL
3 |BACKFILL, CRUSHED ROCK —— AS REQ'D[AS REQ'D
APPROX 6° ULTIMATE HOLDING —
CAPACITY |0
CLASS & SOIL |CLASS 7 SOIL
B—20A 16,500 LBS 12,000 LBS "/
B-20B 21,500 LBS 16,000 LBS g ,//Q
2 |
-
o o e [=]
XXX @ 8|
ey D =T
> &le £
'/W\ /%/ :
> O
XKL =
ko
\$/§3;>/ vy
o ===
Nl o g BUTT COIL SHOULD HAVE ADEQUATE
NOTES: ol He==— COILS TO MAKE GOOD CONTACT WITH
_— Me=— o THE EARTH. REFER TO DWG._B659 FOR
1. INSTALL ANCHOR PER MANUFACTURER'S RECOMMENDATIONS. === GROUND OPTION. GRCUND
2. INSTALL ANCHOR AT SAME ANGLE AS GLYY, — GIRDLE.
3. BACKFILL HOLE WITH CRUSHED ROCK COMPACTED ===
IN 6 [N LAYERS. TOP & PER SITE RESTORATION
REQUIREMENTS.
10" FOR B—20A
12" FOR B-20B BECK
Esm.uLEr CONSULTANTS [te) |w
Co ——. b
| E CLEVELAD FUBLI POVER | k CLEVELAND PUBLIC POWER
BUTT COIL
N . GROUNDING DETALL
(@] - mven L MRS |
— ; =] o [ 8243.4

P:\82388_CCG6B\Design\Utilities\Sheets\82388_GD8009.dgn Sheet

CALCULATED
KAE
CHECKED
MJH

CPP STANDARD DRAWINGS

BU8 - CLEVELAND PUBLIC POWER RELOCATION

RELEASED FOR CONSTRUCTION

CUY-77-13.80

BUOS_2017.10.18_BUS_82388_CCG6B.pdf

10/18/2017 Brian.Link

NO. DATE DESCRIPTION

ISSUE RECORD

2017-10-18.BU-8 CPP Relocation - RFC Plans




miutes

10/18/2017 1:57:12 PM

CALCULATED
KAE
CHECKED
MJH

P:\82388_CCG6B\Design\Utilities\Sheets\82388_GD8010.dgn Sheet

BILL OF MATERIALS -
TTEM e STOCK NO. BiLL OF MATERIALS : —
NO. NO. REQ' D . @ STock ]
1| STAPLES. ROLLED JOSLYN J6437 | AS REQD MO, i Ho. 'm"“g 0 ;
*4 COPPERWELD SD. J— - 1_ | woon 0" SPAN JOSLYN JMTI0N-R |1 PAR
3| WOOD MOULDING, BFT. HUGHES 2501.8 [ 2| WSLLATOR, 13 kV P TrPE PP 38-3 3 <L
4 | GROUND GIRDLE HOMAC GG 288-E3 1 w 3| STEEL Pav. 3/8° SHiaset J0SLYN 828 7 m
5 | GALV. STAPLE OVER WOOD MOLDING JOSLYN J7483 HOG | AS REQD o N ™ . -13——-— 4 | Lme Cuamp WOTE 3) — 1 SET/PH
= 3 CROSSARM, 0" X 3 1 A 412 ST P —————— 1
* A4S REQUIRED . . s [ WasreR, 100 FoR 177 80T i o
NOTE: ALL STOGK ITEMS ARE "OR EQUIVALENT" WITH ENGINEER APPROVAL. T PO e e T 2
FLAGG 7581~812 [
= [y | [} {1l 5/8°, ROUND, FLAT JOSLYN J1088 3 o
e, = " e 9 | BOLT. MAGHSE 1/T X & 205 28708 1
; : = = 0| T wRE, DOUBLE Pw PIR Cono. 3 (2 s
T = ICH "] Guo Gam FLAGG PX122 ] <
v 11 | BOLT, WACHME 5/8° X LENGH REQD. rul 71 3
] 13| WaSHER, CURVED 11/16° HOLE3X3X1/4° oM A1 3 (o]
| —1 2 /4 14| wASHER, 1/2°, ROUNG, TLAT JOSLYN JID86 2
. l 18| conmccron, Mo BURNDT TCACA 1 p-d
g _,,ﬁ_-——"'£:) 18 J CONMECTOR, J4CU 10 MEUT,/MESSENGIR PER MCUTRAL ] <L
= — 17 | CLEWS, MSULATED SECOMDARY JOSLYN J3540 1
g % 6 18 [ s ATOR SPOOL 205 YN 01 [ -
: _ f @e' 13| WOOD MOULDWNG, & LENGIHS HUGHES 2301.8 3 U)
§ . o = 20 | STAPLES, GALV. OVIR WOOD MOLDNG | HUGHES 25014 30
|7 . @ 2| STAPMES, ROLLED, CWER BARE COPPORWELD  |aomuvw sses? 100
& “ /® 21 | g4 coppeaneL0 SOUD SO T e a
5 j 2) |NEUTRAL ME weRt PER WEUT 0
2 | 24| wasiER, SPRmG, 3/8° BLMILE 3 o
2
g : +-Hep . (&)
5
I SEE DWG. 843 OR 8343 FOR CROUNDING
1. BOMD ALL HARDWARE 10 WEUTRAL
5. UME CUARD REQD. FOR SPANS OVER 200"
N 5 FASTER COPPER PLATE
PLATE To BE WTH COMPATABLE FASTENER.
MOUNTED WITHIN
THE BOTTOM
I0° oF -
SoE. * WIH TRANSFORMOY MSTALLATION
NCREASE THIS SPACNGC BT Y'-0°
S ¥ 100k OR SMALLER ADD &'~0"
F LARCIR THAN 100kve
|w— %
FUTEH
i i i i % CLEVELAND PUBLIC POWER ] =
—] T GROUND GIRDLE 1 L. 2
GROUNDING DETAIL A
. | o P——] § y—m— |
— = === ‘s YR

BU8 - CLEVELAND PUBLIC POWER RELOCATION

RELEASED FOR CONSTRUCTION

BUOS_2017.10.18_BUS_82388_CCG6B.pdf

CUY-77-13.80

10/18/2017 Brian.Link

NO. DATE DESCRIPTION

ISSUE RECORD

2017-10-18.BU-8 CPP Relocation - RFC Plans




BILL OF MATERIALS - BILL OF MATERIALS
TTEM STOCK NO.
M M e AEG D NO. ITEw N REQ' D
1| wooD BRACE, 507 SPan JOSLYN J4730W-R | 2 PAR || Woo0 BRACE, 50" SPAN T 4
* 2 [ INSULATOR, 13 kW PIN TYPE PP 356—3 6 . 2 INSULATOR, 13V, FIN TrPE PP 356—3 7
3 | STEEL PIN, 5/8" SHANK JOSLMN U626 [ 5 | STEEL PIN, 5/8" DIA SHANK JOSLYN_J626 5
& | LINE GUARD (SEE NOTE 3) PER COND. SIZE |1 ser/eH « | 4+ [ UNE cuaRD, DOUBLE PIN PER COND. | 3 SET
5 | CROSSARM, 8 X 3 1/2° X 4 1727 SIL PN |  —————— 2 5 | crossARM, 8.3 1/2 % 4 1/2, STL PN [— 4
6 | DBL ARMING BOLT, 5,8 X LENGTH REGD. JOSLYN JBBBO—73 z 6 | DBL. ARMING BOLT, 5/8" ¥ LENGTH REQ'D. T 4
7 POLE TOP FIN, FIBERGLASS, 12" FLAGG 7561—B12 2 7 POLE TOP PIN, 127, , FIBERGLASS FLAGG 7561-812 2
. & | WASHER, 5/8", ROUND, FLAT J0SLYN J10ea a 8 | WASHER, 5/8", ROUND, FLAT PLENT 18
4 g BOLT, MACHINE 1/2° X 6 JOSLYN JB706 4 il EYENUT FOR 5/8" BOLT, OVALEYE JOSLYN 1092 3
Y 10 | TIE WIRE, DOUBLE PN SUPPORT TIE PER COND. 3 10 | TEWRE, DOUBLE PIN SUPPORT TIE PER COND. | 4 SET
a° 1" CRID GAIM FLAGG PH122 2 1 GRID GAIN FLAGG PX122 4
12| BOLT, MACHINE 5/8" X LENGTH REQ'D. JBEOR T 54 5 12 |BOLT, 5/8" ¥ LENGTH REQD.. MACHINE P L]
13| WASHER, CURVED 11/16" HOLE.3%3X1/4” JOSLYN 1113 5 13 [BOLT, 1/2" % &". MACHINE J0SLYN J&706 +
32 178" 14 WASHER, 1,/2", ROUND, FLAT JOSLYN J108E8 4 14 WASHER, 1/2", ROUND, FLAT JOSLYN J1086 4
15 | CONNECTOR, #4CU TO g4 CU BURMDY YCACA 1 _GUY LOCATION _ 15 | WASHER, CURVED 11/16" HOLE, 3 X 3 X 1/4" JJOSLYN Ji113 +
16 | CONNECTOR, #4CU TO NEUT./MESSENGER PER NEUTRAL 1 21/ WHEN REQ'D 32 1/4 16| AWFACT TAP CONNECTOR, WIRE TO WIRE PER_COND. 8
17 | CLEVIS, INSULATED SECONDARY JOSLYN J3540 1 17| INSULATOR, SUSPENSICM 13kV , PDI-15 TYPE [ soiois—ozs| 3
. 18| INSULATOR SPOOL JOSLYN J101 1 18 | CLAMP DEADEND, STRAIGHTUNE PER COND. 3
o 19| WOOD MOULDING, & LENGTHS HUGHES 2501.8 B 19| LAG SCREW. 3¢1/2, FETIERDRIVE, DRIVE POINT | JOSLTN JB75% | 2
e 20 | STAPLES, GALV. OVER WOOD MOLDING HUGHES 25014 50 20 | DEADEND CLAMF PER_NEUT. SIZE 1
21 | STAPLES, ROLLED, OVER BARE COPPERWELD JOSLYN JE4S7 100 @e 21 | WASHER, SPRING 5/8" BOLT HOLE JOSLYN J3540 4
27 | 44 COPPERWELD Socup 0 | ———o o A5 REQD 22 | CONNECTOR g4 CU TO NEUTRAL PER NEUT, 1
/@ 23 | WASHER, LOCK FOR 1/2° BOLT JOSLYN J138 2 23 | CONNECTOR #4 CU T0 4 CU BURNDT 4C4CA [
/ 24 | STEEL PIN 3/4" SHANK JOSLYN JE28 ) 24 | CONECTOR MEUT TO MEUT PER NEUT. SIZE 1
™ 25 | NEUTRAL TIE WIRE PER NUET. 1 25 | CLEWS, INSULATED SECONDARY JOSLN 3540 1
2 L 4 26 | WASHER, SPRING, 5/8" BOLT HOLE JOSLYN J3540 5 26 | INSULATOR SPOOL JOSLN o1 1
g o 27 | #4 50 CU — AS REQ'D.
— * REQUIRES ANSI CLASS 55—5 WITH 11/18" R. SIDE GROOVE WHEM 28 NEUTRAL TIE WIRE 1
€ 636 CONDUCTOR WITH GUARD |5 USED. el
29 | ANCHOR, SINGLE OR DOUBLE HELIX 1oa THCE ez AS REQD.
30 | ANCHOR ROD 77 x 17 CHANCE 12334P| AS REQD.
= 31| EVENUT FOR 1" ANCHOR ROD, TWINEYE CHANCE 6362 |1 PER ROD
a NOTE: 32| GUY GUARD, FLASTIC B YELLOW JOSLYN 11483Y | AS REQD.
. 1. SEE DWG. B243 OR 8659 FOR GROUNDING 13 | GUY STRAND PER ENGINEER | AS REQ'D.
X 2. BOND ALL HARDWARE TO NEUTRAL
< 3. LINE GUARD REQD. FOR SPANS OVER 200° SEE DWG 8724 34 | GUY HOOK FLAGG FIZ6A 1
5 35 | ANCHOR SHACKLE 5/8° PIN oemersom| 3
£ 36 | GUY HOOK, COMBINATION TYPE FLAGG P138 1
~ 37 | MACHINE BOLT 7/8 x LENGTH REQ'D 9082 T0 9074 1
6 38 | WASHER, SPRING FOR 7/8" BOLT JOSLYN J3542 1
I £ RGR CURVED 3 /2 X 3172 X /8| gsw sesas 1
3 40 | FIBERGLASS GUY STRAIN INSULATOR 54" 30kv | FLAGG P1354 1
iy * WTH TRANSFORMER INSTALLATION 41 | NONTEWSION SLEEVE JOSLYN_Je7s3 1
o INCREASE THIS SPACING BY 3'-0 -
Q IF 100kva OR SMALLER ADD #'—C" NOTE: ALL STOCK ITEMS ARE "OR EQUIVELANT" WITH ENGINEERS APPROVAL.
IF LARGER THAN 100kva |, * 4 REQUIRES ANSI CLASS 55-5 WITH 11/16" R. SIDE GROOVE WHEN
R CKT_LD. TAG NOTES: 536 CONDUCTOR WITH GUARD IS USED.
% 1. FOR GROUNDING SEE DWG. 8243 OR 8550
Do —
on e g 2 BOND ALL HARDWARE TO NELTRAL
Lo w L 3 4 SPANS OVER ROD 200" REQUIRE LINEGUARD
Y, *
| % CLEVELAND PUBLIC POWER | g9 mﬁg k CLEVELAND PUBLIC POWER
TR P /0B P bHEEE Irsrsd 5o DBL. ARM / DBL, PIN_ASSEMBLY
2 = ) )
N e DOWN GUY DETAIL 55 e o e o] WITH' THREE' PHASE DEE. BUCKARM
-_ o7 mavEs For s e 36
= [ | - B563. I~ - J o e B
= [ | s et [ 8556.5

ies\Sheets\82388_GD8011.dgn Sheet

CALCULATED
KAE
CHECKED
MJH

CPP STANDARD DRAWINGS

BU8 - CLEVELAND PUBLIC POWER RELOCATION

RELEASED FOR CONSTRUCTION

CUY-77-13.80

BUOS_2017.10.18_BUS_82388_CCG6B.pdf

10/18/2017 Brian.Link

NO. DATE DESCRIPTION

P:\82388_CCG6B\Design\Ut

ISSUE RECORD

2017-10-18.BU-8 CPP Relocation - RFC Plans



mlutes

10/18/2017 1:57:25 PM

ies\Sheets\82388_GD8012.dgn Sheet

CALCULATED
KAE
CHECKED
MJH

DIRECTIONS IF TENSIONS

DOWN GUYS NOT
REQUIRED IN THESE
ARE EQUAL.

DOWN GUY DIRECTION

d GUY
ASSEMBLY

50"

B

GUY DIRECTION DEFENDS
IONS, EQUAL TENSION
REQUIRE NO GUY AT THIS LEVEL.

** DIMENSION MAY REQUIRE INCREASED DISTANCE
DUE TO SLCPE OF GUY SUPPORTING TO
CROSSARM.

wn

|
o)

@

32 1/4"

REQUESTED BY EMNGINEER.

BILL OF MATERIALS

£
TOP X— ARM@3)

Yo TEM iy REG ar @@
1 [CROSSARM, WO, 3 1/2° X # 1/2,, SLPN |  ————— 4 1
2 |DEL ARMING EYEBOLT, 5/8" X LENGTH REQ'D. [JOSL™ JeG14 - 26 3 |/@ / /@
NOTE: TRIPLE CROSSARM WHEN 3 | WOOD BRACE, 60" SPAN JOSLYN J4730W—R | 4 PAIR = 1 ] ]
4 | BOLT, MACHINE, 5/B° X LENGTH REQD [osLvN Jssos — 24 8
5 | WASHER, 5/8", ROUND, CURVED JOSLYN 113 16 \@ ,@
& | OVAL EYENUT, FOR 5/8" BOLT JOSLYN Jioez 10
7 | INSULATORS, SUSPENSION 13kV, POl TYPE OB 401015-0215 9 o o ]
5 | DEADEND CLAMP, STRAIGHTLINE PER_GOND. ]
9 | GRID GAIN FLAGG PX 122 4
10 [ BOLT, MACHINE, 1/2° X & JOSLYN JBT06 8
11 | WASHER, 1/2°, ROUND, FLAT JOSLYN J10BE B \{D
12 | AMPACT CONNECTOR, LINE 10 LINE BMPACT _ &
13 | INSULATOR, 13kV PN TYPE PP 366-3 3
14| JIMPER SPLICE, NON—TENSION, PER COND. PER COND. SIZE 3
15 | STEEL PIN, 3/4" SHANK JOSLYN JB0B 6
16 | TIE WRE. DBL PIN. PER COND SIZE PER_COND. SIZE 3
17 |LAG SCREW, 3 X 1/2°, FETTERDRIVE & PONT JOSLYN J2742 2
18 | WASHER, CURVED 11/16" HOLE 3 X 3 X 1/4" JOSLYN 113 8 ®@
19 SPRING WASHER FOR 5/8" BOLT JOSLYN J3540 a8 6"
20 FIBERGLASS STRAIN INSUL 36" 30k MIN FLAGG 30038 1 | g"
21 | GUY GRP PER_GUY STRAND + @ L 13 [0 —1—
22 |GUY STRAND PER ENGINEER AS REQD. _d
23 | GUY GUARD, FLASTIC, & YELLOW JOSLYN_J14837 2 } / Ve
24 | EYENUT FOR 1" ANCHOR ROD CHANCE 8562 2 \® J
BOTTOM X ARM (@ 25 | ANCHOR ROD 7° X I EHANCE 123:_4? 2
26 | ANCHOR SINGLE OR DOUBLE HELIX Fl02_BabT- oazs 2
27 | FIBERGLASS STRAIN INSUL 78" 30k MIN FLAGG 300-78 1 %
s v 28 [TIE WRE SGL FIN PER COND. SIZE 1 | c|’
28| GUY HOOK, COMBINATION TTPE FLAGG P138 1 ®
@ 30| GUY HOOK NEUTRAL FLAGG P135A !
31 | DEADEND CLAMP PER NEUT. SIZE 1 \®
32 | CLEVIS SECONDARY INSULATED JOSL'YN J3540 1
33 | INSULATOR SPOOL JOSLYN S0t 1
SEE DWG 8724 34 | #4 CU SOUD S.0. - AS REQD. | ,@
35 | CONNECTOR, #4 CU TO NEUTRAL FER_NEUT. [ _ 7@1_ — —
36 | CONNECTOR NEUT. TO NEUT. PER_NEUT. 1
37 | STEEL PIN 5/8" SHANK fosLvw Js2s 4
38 | CONNECTOR #4 CU TO #4 CU BURNDY YC4C4 1
39| WOOD MOULDING B LENGTH HUGHES 2501.8 3 iy
40 | NEUTRAL TIE WIRE PER_NEUT. SIZE 1 ®®
41| MACHINE BOLT 7/8 X LENGTH REQD JOSLYN_15062—807. 1 (14}
42 [ SPRING WASHER FOR 7/8 BOLT JOSLYN 43542 1 ®
43 %J}%EDHS_;& WASHER 31/2 X 3 1/2 % 3/8 | jnsivw JeBas 1
NOTE: ALL STOCK ITEMS ARE "OR EQUIVALENT® WITH ENGINEERS APPROVAL,
NGTES%. BOND ALL HA.RDme O NUETP;L - % — | @
2. SEE DWG. B243 OR 8653 FOR GROUNDING == U
CLEVELAND PUELIC POWER | /@)
THREE PHasE THREE way nE. || OO0 T

GUY DETAIL

WOOD ARM ASSEMBLY

LaH.

Lmensn

B8557.4

SEE DWG. 8243 OR 8569
_—l_— FOR GROUNDING

CO0O—{ o

NEUTRAL

ATTACHMENT

GUY DETAIL

SEE DWG B724

BILL OF MATERIALS

N, TEM o R0 0

1 3172 X 41/2 X §—0° SIL PIN CROSSARM R 2

2 | DAL ARMING EYEBOLT, 5/8° % LENGTH REQD ™ 3

3 | WOOD BRACE. 60" SPAN e 4

4 | BOLT. 8/B x LENGTH REC'D, MACHINE JOSLYN JBBDB TO B824 5

5 | WASHER, 5/8", ROUND FLAT HaSHES &

& | #% WP. CU 50UD AS REQT
7 | INSULATORS, SUSPENSION 13KV, ppi—15 TYPE 0.B. 233194 3

& | DEADEND CLAMP PER _CONDUCTOR SIZE 3

g GRID GAIN e 2

10 | BOLT, 1/2 X 6", MACHINE Fay 4

11| SPRING WASHER, FOR 5/8" BOLT JOSLYN J3540 3

12 WASHER, CURVED 11/16" HOLE 3X3%1/4 JOSLYN J113 4

13 | CONNECTOR $4CU TO NEUTRAL/MESSENGER PER NEUT/MESS SIZE 1

14 | EYENUT FOR 5/8", DVALEYE JOSLYN J1083 +

15 | GUY HOOK FLAGG P135A [

16 | WOOD MOULDING, & LENGTHS HUGHES 2501.8 3

17 STAPLES, ROLLED JOSLYN JE457 100
18 | STAPLES, GALV. HUGHES 25014 50

19 | MACHINE BCLT 7/8" x LENGTH REGT. JOSLYN JI0B2-9074 1

20 | WASHER, SPRING FOR 7,/8" BOLT JOSLYN 43542 1

21 [ ARER, 5 CURVED 3 1/2 X 31/2 X 3/8 JOSLYN 6828 1

22 | GUY HOOK, COMBINATION TYFE, MIN ULT. 35K FLAGG P139 1

23 | LAG SCREW, 3 X 1/2", FETTER DRIVE & POINT JOSLYN JBTS53P 1

24 | FIBERGLASS CUY STRAIN INSULATOR, 36°, 30K MIN,  FLAGG 300-38 [

25 | GUY GRIF PER STRAND SIZE b
26 | GUY STRAND PER ENGINEER AS REQD.
27 | GUY GUARD, PLASTIC &' YELLOW JOSLYN J1493Y | AS REQD.
28 | EYEMUT FOR 1" ANCHOR ROD CHANCE 6562 2

29 | ANCHOR ROD 7" X 17 CHANCE 123347 2

30 | ANCHOR, SINGLE OR DOUBLE HELIX 100 GRANFE ) oass 2

k1l WASHER, 1,/2. ROUND FLAT -'lﬁ%;" 4
32 | DEADEND CLAMP PER NEUT. SIZE 1

33 | CONNECTOR #4 CU — #4 CU BURNDY YC4CA 1
NOTE: 1. ALL STOCK ITEMS ARE "OR EQUIVALENT" WITH ENGINEER APPROVAL.

2. BOND ALL HAREWARE TO NEUTRAL
=
k CLEVELAND PUBLIC POWER
THREE PH. DEADEND

CPP STANDARD DRAWINGS

P:\82388_CCG6B\Design\Ut

CUY-77-13.80

BU8 - CLEVELAND PUBLIC POWER RELOCATION
RELEASED FOR CONSTRUCTION
BUO8 2017.10.18 BU8 82388 CCG6B.pdf
10/18/2017 Brian.Link
NO. DATE DESCRIPTION
ISSUE RECORD

2017-10-18.BU-8 CPP Relocation - RFC Plans




mlutes

10/18/2017 1:57:31 PM

ies\Sheets\82388_GD8013.dgn Sheet

CALCULATED
KAE
CHECKED
MJH

REDUCED
TENSION
SPAN
DIRECTIOM

o

o

* WITH TRANSFORMER INSTALLATION
INCREASE THIS SPACING BY 3'—0%,
IF 100kvo OR SMALLER, ADD
4'—0" F LARGER THAM 100kva

80" *

SECTION A — A

NEUTRAL
ATTACHMENT

@_

GUY DETAIL

NOTE: TRIPLE CROSSARM WHEN
REQUESTED BT EMGINEER.

BILL OF MATERIALS
TTEW STOCK (-3
HO. ITEM NO. REQ' O
1 31/2 % 41/2 ¥ 8—0" SIL PIN CROSSARM F]
2 | DBL ARMING EYEROLT, 5/8° X LENGTH REQD nn o onzn 2
3 WOOD BRACE, 80" SPAN JOSLYM J4730W—R | Z PAR
4 | BOLT, 5/8 x LENGTH REQ'D, MACHINE JOSL'YN JBBOS TO 824 [
5 WASHER, 5/8°, ROUND FLAT JOSLYN J1086 4
] #4 WP, CU S0LID —_— AS REQ'D
7 INSULATORS, SUSPENSION 13KV, Poi—18 TYPE 08 40150215 5
a8 DEADEND CLANF PER CONDUCTOR SIZE| &
o | GAID GAN i H
10| BOLT, 1/2 X 6", MACHINE oy 4
11| WASHER. 1/2, ROUND FLAT SN 4
72 | FIBERGLASS POLE TOP PN 12" FLAGG 7561612 1
13 INSULATOR 13kv FIN TYFE FLAGG PP366—3 5 REDUCED TENSION DIRECTICN
14 DEADEND CLANF PER NEUT. SIZE Z
15 AMPACT CONNECTOR PER NEUT. SIZE 1 -]
18 SPRING WASHER, FOR 5/8° BOLT JOSLYN J3540 4
17 | WASHER, LOCK FOR 1/2°BOLT JOSLYN 138 4
8 WASHER, CURVED 11/16° HOLE 3x3x1/4 JOSLYN M13 4 -
19 CONNECTOR #4CU TO NEUTRAL/MESSENGER PER NEUT/WESS SIZE 1 I
20 CONMECTOR 4 — #4 CU BURND'T YCACA 1
21 GUY HOOK FLAGG P135a 1
22 WOOD MOULDING, B' LENGTHS HUGHES 2500.8 1
23 | STAPLES, ROLLED JOSLYN J6497 100
4 STAPLES, GALY. HUGHES 25014 50
25 # CU SD, A5 REQD.
26 GUY HOOK, COMBINATION TYPE FLAGG P138 1
27 | LAG SCREW, 3 X 172", FETTER DRIVE & POINT JOSLYN J2742 1
28 | FIBERGLASS GUY STRAIN INSULATOR, 367, 30K MIN]  FLAGG 300-36 ]
26 | GUY GRIP PER_STRAND SIZE + i<
30 | GUY STRAND PER_ENGINEER 45 REQ'D, cuy
31 | GUY GUARD, PLASTIC B' YELLOW JOSLTN J1483Y | AS REGD, ASSEMBLY
Wﬁ%g %WBETRNN 32 EYENUT FOR 1" ANCHOR ROD CHANCE 5562 1
L’:‘ESUT'FRUEPCS'EIE?J%‘TOR 33 | ANCHOR ROD 7' X 17 CHANCE 12334P 1
SEE DWG B724 34 | ANCHOR, SINGLE OR DOUBLE HELIX Emz_%;éﬁm . 1 s_g*
35 | JUMPER SPLICE, NON—TENSION suRNT TOH—ash 3
36 | TE WIRE, SGL FIN BER COND SIZE 1
37 | TE WIRE, DBL PIN PER COND SIZE H
38 | STEEEL PIN 5/8" SHANK JOSLYN JB2E 4
GUY TO BE OFFSET | 7 1 9" MIN. DROP e
WO LEET TG ANGID 39 | MACHINE BOLT 7/B x LENE;TH REGD. JOSLYN J9062-5074 e
NEUTRAL WIRE 40 | WASHER, SPRING FOR 7/8° BOLT JOSLYN J35a2 1
& o IT7ZX I1/Z X 378 | JosLvn Jeaza 7 @?ﬁé
42 | PORCELAIN GUY INSULATOR PP50& 1 s
43 | EYENUT FOR 5/8" BOLT OVALEYE JOSLYN 11092 1 *+ DIMENSION MAY REQUIRE INCREASED DISTANCE oa®
NOTE: ALL STOCK ITEMS ARE "OR EQUIVALENT" WITH ENGINEER APPROVAL. E%SL%R%OPE OF GUY SUPPORTING TO
— : @
NOTES: BBCK <
1. BOND ALL HARDWARE TG NEUTRAL FOTER — A |~ A
2. SEE DWG. B243 OR B&50 FOR GROUNDING ——— (j.l i 2
% CLEVELAND PUBLIC POWER | i 1
THREE PH. DBL DEADEND 0] @‘_ % &)
WOOD CROSSARM ASSEMSLY 50

| oo m

B560.4

o)
N
| \@
GUY DETAIL
TYPICAL OF ALl PRIMARY GUYS

SEE DWG 8724

BILL OF MATERIALS
' =Y R o
1 [CROSSARM, WD., 3 1/2" ¥ 4 1/2°, & STL PIN — 4
2 |DBL ARMING EYEBOLT, 5/8° % LENGTH REQ'D. |JOSLYN Jaets — 28 D
3 |WD00 BRACE, 60" SPAN J0SLYN_ J4730W-R 4 PAIR]
4 |BOLT, MACHINE, 5/8° % LENGTH REC'D. LoSLYW Jseoe — 24 ]
5 | WASHER, 5/8", ROUND, FLAT posLm Jioss 8
§ | OVAL EYENUT, FOR 8/8" 8OLT JOSLYN 1082 12
7 |INSULATORS, SUSPENSION 13KV, PDI TYPE 08 233154 12
B | DEADEND CLAMF, STRAIGHTUNE PER_COND. 12
9 | GRID GAIN FLAGG Px 122 4
10 | BOLT. MACHINE, 1,/2" % B7 JOSLYN JBT0E a
11| WASHER, 1/2", ROUND, FLAT JOSLYN_NDBE 8
12 AMPACT CONNECTOR, LINE TO LINE AMPACT 8
13 INSULATOR, 13kV FIN TYPE PP 366—3 ]
14| JUWPER SPLICE, NON-TENSION, PER GOND. o iy ) s
15 | STEEL PN, 5/8" SHANK JOSLYN JB26 [
16 | TIE WIRE DBL FIN PER COND. SIZE 4
17 _|LAG SCREW. 3 X 1/2", FETTERDRIVE & POINT JOSLTN J2742 [
18 | WASHER, CURVED 11/16" HOLE 3 X 3 % 1/4" JOSLYN 1113 0
18 | SPRING WASHER FOR 5/8 BOLT JOSLYN_J3540 10
20 | FIBERGLASS STRAIN INSUL 36" 30k MIN FLAGG 300—38 [
21| GuY GRIP PER GUY STRAND [
22| GUY STRAND PER ENGMNEER AS REQD.
23 | GUY GUARD, PLASTIC, B' YELLOW JOSLYN 4837 4
24 | EYENUT FOR 1" ANCHOR ROD CHANCE 8562 4
25 | ANCHOR ROD 7 X 17 EHANCE 123349 4
6| ANCHOR SINGLE OR DOUBLE HELIX iz G0 aeza| ¢
27 | FIBERGLASS STRAIN INSUL 78° 30k MIN FLAGG 300-78 1
28 | TE WIRE, SGL PIN PER_COND SIZE 1
7§ | ABERGLASS POLE TOP PIN 127 FLAGG 7561-612 4
30| AMPACT CONNECTOR PER NEUT. SIZE 4
31| DEADEND CLAMP FER NEUT. SIZE )
32 | #4 CU TO g4 CU BUBNDY TCACA 1
33 | WO0O MOULDINGE' LENGTH HUGHES 2301.8 1
34 | EYE BOLT 5/8" x LENGTH REQD. LOSLYN J8614-9626 1
35 | GUY HODK, COMBINATION FLAGG P139 1
38| MACHINE BOLT 7/8 x LENGTH REQD bosLYN Jo062-9074 1
37 | SPRING WASHER FOR_7/8 BOLT JOSLYN 43542 1
38| jesE JOSLYN 6828 1

NOTE: ALL STOCK ITEMS ARE "OR EQUIVALENT® WITH EMGINEERS APPROVAL

NOTES:
(1) SEE DWG 5243 OR 8569 FOR GROUNDING

SECTION A — A

&=

k CLEVELAND PUBLIC POWER

THREE PHASE FOUR WAY D.E.
WOOD ARM ASSEMBLY

o
[ | ctrs kB

[a 8561.3

CPP STANDARD DRAWINGS

P:\82388_CCG6B\Design\Ut

BUS8

RELEASED FOR CONSTRUCTION

- CLEVELAND PUBLIC POWER RELOCATION

BUOS_2017.10.18_BUS_82388_CCG6B.pdf

10/18/2017

Brian.Link

CUY-77-13.80

NO.

DATE

DESCRIPTION

ISSUE RECORD

2017-10-18.BU-8 CPP Relocation - RFC Plans




mlutes

10/18/2017 1:57:38 PM

CALCULATED
KAE
CHECKED
MJH

P:\82388_CCG6B\Design\Utilities\Sheets\82388_GD8014.dgn Sheet

SPAN WIRE RULING SPAN | INITIAL/FINAL TENSION (LBS.) BASED ON AMBIENT TEMPERATURE (°F) AT TIME OF TENSIONING
(FT) STRINGING z OF S5F 10F 15F 20F 25F 30F 35F 40 F 45F 50F 55F 60 F 65F 70F 75F 80F 8F 90F 95 F 100 F
636 KCMIL 26/7 ACSR "GROSBEAK" 358 INITIAL g 1121 1112 1105 1096 1088 1080 1073 1066 1058 1051 1044 1038 1031 1024 1018 1012 1005 999 993 987 981
970 10 336.4 KCMIL 26/7 "LINNET" 358 INITIAL E 635 630 624 619 614 609 604 600 595 591 586 582 578 574 570 565 562 558 554 550 547
1/0 TRIPLEX 358 INITIAL 705 695 686 676 667 658 650 642 634 626 619 611 604 597 590 584 578 572 566 560 554
COMMUNICATION 358 INITIAL 807 801 796 791 785 780 775 770 765 760 755 751 746 741 737 733 728 724 720 716 712
NOTES:

1.) STRINGING TENSIONS BASED ON PLS CADD MODEL.
2.) COMMUNICATION WIRE HAS BEEN MODELED AS A 3/8" EHS FOR ANALYSIS PURPOSES.

S
o
<
=
=
>
»
CPP POLE #9 'CPP POLE #10 g
(O]
pa
o
[
750 750, n
700 700,
/ A
650 | — 650
0#00 1+00 2+00 3#+00
PROFILE VIEW:
SCALE: o
HORIZONTAL: 1”=40’ posd
VERTICAL: 17=40 o
o
1
N~
N
1
BUS - CLEVELAND PUBLIC POWER RELOCATION >
>
RELEASED FOR CONSTRUCTION (S)
BUOS_2017.10.18_BUS_82388 CCG6B.pdf
10/18/2017 Brian.Link
NO. | DATE | DESCRIPTION

ISSUE RECORD

2017-10-18.BU-8 CPP Relocation - RFC Plans




	82388_GT8001
	82388_UB7001
	82388_UP7001
	82388_UP7002
	82388_UF7001
	82388_UF7002
	82388_UF7003
	82388_UF7004
	82388_UF7005
	82388_GD8001
	82388_GD8002
	82388_GD8003
	82388_GD8004
	82388_GD8005
	82388_GD8006
	82388_GD8007
	82388_GD8008
	82388_GD8009
	82388_GD8010
	82388_GD8011
	82388_GD8012
	82388_GD8013
	82388_GD8014



